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P2

T E8A228
BREREHERR(KE-ES- TV %)
=1 _JKim(°C)
48 T 44 Hil[E5H &(8/16)
ARt | pFERE | B/OV FeA KEg | kangen | 7| s | IEEDE
X WIS | oo
< [a] —Fi[= |
Om 30.3 30.4 30.2 30.0 29.3 30.2 27.5 2.7
2m 29.9 29.2 29.2 291 28.6 29.2 28.1 1.1
5m 28.3 28.1 28.0 27.9 28.3 28.0 28.3 A 03
10m 278 27.1 27.8 27.8 - 27.8 276 0.2
B-1m 28.4 27.7 27.7 27.7 28.2 27.7 27.4 0.3
®2 E5
48 T 44 AIEIZAZE(8/16)
ARt | pFERE | B/OV FeA KEg | kangan | 7| impe | IEEDE
X WIS | oo
< [a] —Fi[= |
Om 23.9 24.0 25.0 24.8 25.9 24.6 23.2 1.4
2m 26.5 26.4 26.2 26.3 2741 26.3 25.7 0.6
5m 27.9 27.8 21.7 27.8 28.0 27.8 28.1 A 03
10m 29.0 28.8 28.6 28.7 - 28.7 29.6 A 09
B-1m 28.9 29.2 29.5 29.4 29.2 29.4 29.8 A 04
#3 BEEFEE (mg/
48 T 44 AIEIZAZE(8/16)
ARt | pFERE | B/OV FeA KEg | kangen | 7| g | IEEDE
X WIS | oo
< [a] —Fi[= |
Om 9.3 8.1 8.1 7.3 6.7 7.8 55 2.3
2m 6.4 54 59 6.0 56 5.8 4.9 0.9
5m 1.8 2.1 36 3.4 5.3 3.0 4.0 A10
10m 0.3 0.8 3.7 4.0 - 2.8 1.6 1.2
B-1m 0.2 0.4 1.6 1.4 5.4 1.1 0.5 0.6
X B/0V-RkN- KEOFEHE
=4 KZR-FEHE (m)
hicEl | B/0Y ARV KRB | kE/EIE
KR 12.9 15.4 17.7 17.6 9.9
| EEARE 2.1 2.3 2.7 2.6 25 |
Hil[E] (8/16) 3.2 2.5 2.2 4.0 4.0
®5 FS52Uk2 (cells/ml)
é’j‘;;z{ e TRAEGANIE =
Om 0 0 0 2,200
2m 0 0 0 450
REPARAT | 5m 0 2 0 40
10m 0 3 0 20
11m 0 0 0 80
Om 0 1 0 2,200
B/ov 2m 0 0 0 400
5m 0 6 0 60
Om 0 0 0 1,350
2m 0 0 0 120
Jen 5m 0 4 0 70
10m 0 0 0 10
16m 0 0 0 0
Om 0 1 0 450
KEE 2m 0 19 0 1,450
5m 0 9 0 210
Om 0 0 0 250
JKE/INEIFT 2m 0 0 0 750
5m 0 3 0 110
e 4 2m 0 1 0
5m 0 7 0




